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UNIT 6B LESSON 10

Do Now: Below is a graph that describes Ms. Ackerman’s hiking trip.

a) Did which period of time did Ms. Ackerman traveled the quickest? Justify your
answer,

V3 - 143 Steepest s/opR

b) Explain what Ms. Ackerman could have been doing during 8™ through the 10" hour.
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AIM: HOW CAN WE GRAPH PIECEWISE FUNCTIONS? (Day 1)

1. On the following graph, complete the tables and graph the following piecewise function.

f(x)={2x_1' ifx>-1
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2. On the following graph, complete the tables and graph the following piecewise function.
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a) What is the domain in interval notation? b) What is the range in interval notation?
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¢) What is the domain in set builder notation? d) What is the range in set builder notation?
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3. On the following graph, complete the tables and graph the following piecewise function.
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a) What is the domain in interval notation? b) What is the range in interval notation?
C__ S e E_ =3, w}
d) What is the domain in set builder notation? d) What is the range in set builder notation?
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4. On the following graph, complete the tables and graph the following piecewise function.

FR =3 ro={4] 1Srsa R =X 4
x| X

XY

op-1 |3 1D

‘A D _ ’ A2

ik € P 3|4

4> - Yyls
-Gl B

5. On the following graph, complete the tables and graph the following piecewise function.

x+4l —6Sx<2

“F(X\:X_‘_q flx) = -6, x=2

—-x+ 2, x> 2




